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Consider the effect of a parity pricing system on an agricultural market. Here, the goverment intends to set a
price for a commodity, like wheat, that will provide farmers with an income that is comparable to incomes for
nonfarmers. Where should the parity price be set, above the equilibrium price or below it? Consider the graph
shown below. The equilibrium price of wheat is $5 per bushel and the equilibrium quantity is 60 million
bushels. Would $3 per bushel seem like a reasonable parity price? The problem is that farmers’ incomes are
not in parity with nonfarm incomes. Solving this problem requires setting a price higher than the equilibrium
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price, at $8 per bushel for example. A parity price is a price floor. For a price floor to be effective. it must be
set above the equilibrium price. This policy creates an excess supply of the commodity. In this case, there is an
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excess supply of 40 million bushels, the difference between the 80 million bushels farmers supply at $8 per
‘bushel and the 40 million bushels that consumers demand at $8 per bushel.
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What is Consumer Surplus?

Consumer surplus is a measure of the economic welfare that people
gain from purchasing and then consuming goods and services

+ Consumer surplus is the Price
difference between the total
amount that consumers are
willing and able to pay for a
good or service (shown by the
demand curve) and the total
amount that they actually do
pay (i.e. the market price). A

* Consumer surplus is indicated
by the area under the
demand curve and above the
market price.

a1 Quantity
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What is Producer Surplus?

Producer surplus is a measure of producer welfare

* Producer surplus is the
difference between what
producers are willing and able
to supply a good for and the B o o o o
price they actually receive

* Producer surplus shown by
area above the supply curve
and below the market price

* Higher prices provide an
incentive to supply more to
the market (profit motive)
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What are the equilibrium price and equilibrium quantity before the price
ceiling? What will the excess demand or the shortage—quantity demanded
minus quantity supplied—be if the price ceiling is set at $2.40? At $2.00? At
$3.60?

Price  Qd Qs
$160 9,000 5,000
$2.00 8500 5,500
$2.40 8000 6,400
$2.80 7,500 7,500
$320 7000 9,000
$360 6,500 11,000
$4.00 6,000 15000




image4.png
Let's look at the effect of a rent control law, like those imposed during World War II, on a rental housing
market that had been in equilibrium. Consider the graph below:
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‘The demand for rental apartments is negatively sloped because as rents are lowered, more people are
willing and able to rent apartments — as opposed to living with parents, sharing an apartment with others, or
being homeless. The supply of rental apartments is positively sloped because fewer apartments are supplied in
the short run as rents are lowered. People find it less worthwhile to rent out that extra room or basement
‘apartment as rents decrease. The graph on the previous page shows that the market equilibrium monthly rent is
'$800, and at that price, quantity demanded and quantity supplied are equal to 2,100 apartments. Because the
market is in equilibrium, there is no excess demand or excess supply.

Now suppose that goverment decides that $800 is too high a price for renters to pay. Out of concern
for renters, the government imposes a rent control law that sets a maximum monthly rent of $400. This
certainly reduces the cost of housing to renters, doesn’tit? But look at the graph to see the effects on the rental
housing market. The quantity demanded of apartments increases to 2,300, while the quantity supplied drops to
1,850. This means that there is now an excess demand (or shortage) of 450 rental apartments. Renters who are
lucky enough to get a rent-controlled apartment are better off because they are paying $400 instead of $800, but
others are worse off because they can't get an apartment at all. This shortage will persist as long as rent
controls are in effect.

In fact, the shortage of rental apartments is likely to become worse in the long run. Landlords who are
receiving lower rents have less incentive to maintain their properties, so many will eventually be abandoned or
torn down. Low rents will also deter potential landlords from building new rental properties. Over time, the
supply of housing will probably decrease.





